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5.1-5.2

Solve Inequalities Using
Addition, Subtraction,
Multiplication, & Division

When graphing inequalities,
make sure the variable is on the left.
‘ closed circle Graph the following:
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Write an inequality represented by each graph.
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Use inverse operations to solve the inequalities.
Solve and graph.
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Verbal problems containing phrases like greater
than or less than can often be solved by using
inequalities. The following chart shows some

other phrases that indicate inequalities.
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12. The gumpf -14 and d(is less than }22.
Write an an inequality and solve.
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13. The(differencepf 8 and gfis at least}17.
Write an an inequality and solve.
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Solve and graph.
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When you multiply or divide
BOTH sides of an inequality by a
NEGATIVE value, you must
FLIP the inequality sign!!
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24. The C'udc")vf.'lgeir?f bf x and -4
is greater than or equal to 8.
Write an an inequality and solve.
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Write an an inequality and solve.
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